$$\begin{array}{c} (\omega, \omega, \omega) \in \mathbb{R}^{n} \\ (\omega, \omega) \in \mathbb{R}^{$$



Jar on arbitrary external excitation are con elweys  
write: 
$$f(t) = \frac{4}{2\pi} \int_{-\infty}^{\infty} dw F(w) e^{-iwt}$$
  
& andogarsly for the solution  
 $x(t) = \frac{4}{2\pi} \int_{-\infty}^{\infty} dw G(w)F(w) e^{-iwt}$   
 $x(t) = \frac{4}{2\pi} \int_{-\infty}^{\infty} dw G(w)F(w) e^{-iwt}$   
 $x(t) = \int_{-\infty}^{\infty} dt' f(t') e^{iwt} wt get$   
 $x(t) = \int_{-\infty}^{\infty} dt' f(t') g(t-t')$   
 $where g(t-t') = \frac{4}{2\pi} \int_{-\infty}^{\infty} dw G(w) e^{-iw} (t-t')$   
where  $g(t-t) = \frac{4}{2\pi} \int_{-\infty}^{\infty} dw G(w) e^{-iw} (t-t')$   
 $g(t)$  corresponds to the propagation of an instandance of  
 $force f(t') = dS(t')$  from t' to t+t  
 $force f(t') = dS(t')$  from t' to t+t  
 $force f(t') = dS(t')$  from t' do the firther  
 $for otherwise a force that will operate in the firther$ 

90

Γ

to add impect the prisont.  
To see that give is indeed consal, we had to book  
at its analytic structure  
(this is the connection we were looking for)  
we had 
$$g(\tau) = \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} G(\omega) e^{-i\omega \tau}$$
  
with  $\delta > 0$   
 $\frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} G(\omega) e^{-i\omega \tau}$   
 $\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau}$   
with  $\delta > 0$   
 $\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i\omega \tau} \int d\omega G(\omega) e^{-i\omega \tau} -\frac{1}{4\omega} \int d\omega G(\omega) e^{-i$ 

• for 
$$T = 0$$
 we need to close the  
contour in the linear help  
plane, since then on the arc  
we have  $\ln(\omega) < 0$  no  
 $-i(i \ln(\omega)) = \ln(\omega) < 0$   
to we may torite:  
 $g(z) = \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$   
 $= \lim_{R \to \infty} \frac{1}{2\pi} \int d\omega G(\omega) e^{-i\omega z}$ 

Glup analytic in the upper (=> causality  
half plane gtread=0  
one can show that non-the scattering amplitudes at  
cousal in this spritit & as such have to have  
a well defined analytic structure. The is adapted  
for relat. amplitudes.  
Implications of unitarity blandyt for physical  
scattering process the time working operator  
is provided by the fine evolving operator  
is provided by the fine evolving operator  
is provided by the fine evolving operator  

$$M(t', t)$$
 is the set  $M(t', t) = M(t', t)$  or  
 $g = line fine M(t', t) = M(t'$ 

thus M is unitary & thus: StS = 1  
This is nothing but the conservation of-  
probability.  
• In the absence of interactions: 
$$\hat{S} = 11$$
  
• Carsality demands that S is analytic in the  
whole complex plane of the physical shat  
besides the tell axis  
Thus non-trivial scattering comes from S-11 w  
For 2-body scattering we define  
at the physical scattering we define  
at the physical scattering we define  
at the physical scattering we define  
when single patricle spice are not malised accor. to  
 $p' | p > = (2\pi)^2 2Ep 8^{(2)}(p-p')$   
Than the unitarity of the S-matrix we get:  
Misa Mat = Machine Scattering we define  
where for the last equality I use  $M(s^*) = M(s)^*$ 

Introducing basis states in get  $\operatorname{Disc}(\mathcal{M}_{ba}) = \lambda (2\pi)^{4} \sum_{c} \int d \overline{P}_{c} \mathcal{M}_{cb}^{*} \mathcal{M}_{cc}$ the phase space is here defined via  $d \neq (P, p_1, \dots, p_n) = S'(P, \tilde{p}, p_1) \prod_{i=1}^{n} \frac{dp_i}{(2\pi)^2 L E_i}$ Far only 2-particle channels this gives  $M_{ba} = \sum_{c} M_{cb}^{*} S_{c} M_{ca}; S_{c} = \frac{1}{87} \frac{1}{\sqrt{s}} \frac{1}{\sqrt{s}} O(s - s_{thr})$ for prod. complitudes one finds  $Im \mathcal{A}a = \sum_{b} \mathcal{M}a \mathcal{B}b \mathcal{A}b \qquad (*)$ there for the scattering Matrix M develops an ineginery part for S>S thr. & is real below the lowest threshold for real values of S. This implies: There is a branchpoint a every S= Sthr: This branchpoint is of V-type, Since  $q = \sqrt{2\mu E}$  with  $\mu = \frac{m_1 m_2}{m_1 + m_2}$  & E = 0 at hesheld Whenever a had channel opens the number of Riemann-sheets doubles

For 1 channel (elastic): 2 sheets bound stokes  
1<sup>st</sup> sheet: Physical sheet; Cantains polest at  
the real axis below the threshold le a branch  
point at threshold  
2<sup>rd</sup> sheet: Unphysical sheet, contains poles either  
on the real axis below the the threshold  
(virtual states) or poles in the complex plane,  
but then they must come in pairs, since  

$$M(s^*) = M(s)^*$$
 (resonances)  
One closing remark on the implication of unitarity  
for production amplitudes in the 1-channel  
case: Now relation (\*) reads;  
 $Mm A = M^*SA$   
& since Im the R no phase of A Must  
ageu to the phase of M (Watsch Hearem)



https://upload.wikimedia.org/wikipedia/commons/9/9c/Riemann\_sqrt.svg



